H.P. BOARD OF SCHOOL EDUCATION, DHARAMSHALA
Model Question Paper
Subject:- Economics(Full Syllabus)
Class-10+2

Time: 3:00hrs M.M. 80

Are: 1. 9 ged Sifard B |

All questions are compulsory.

2. TP U & FHI AT & IR TP 8 I W (o |
Attempt all parts of a question at one place.

3. Ul BT IR I A Sl YT AT U UF WR ST TS B, SIRYRADH W W & T
e forgen sifant 2 |

You must indicate on your answer book the same question number as
appears in your question paper, while answering your questions.

Yrs—h
Section-A

AIe : UeT G 1 ¥ 8 I QU Y ggfdbedd el H 9§ U Hel [dbed BT gArg N |
Multiple Choice Questions from Sr. No. 1 to 8, select the correct option
from the given alternatives.

1. A BT g= el gRymeT fha €17

who gave the wealth definition of Economics?

a)<fo ATt b)Rifa=a

Dr. Marshall Robbins

c) veH A d)sTH | I T
Adam Smith None of the above.

2. fa=foRaa & 9 19 I T SreidRe & < G987

Which one of the following is the central problem of an Economy?

a) IRISTRI & TR b) =T @ TR
Problem of unemployment Problem of poverty
c) Sared fdas forg farar Sy d) H ¥ @15 T8I
For whom to produce None of these
3. /& I SUAINET Y B € Al el SUAMAT e BIAl ©7
When Marginal utility gets zero, then total utility is.......
a) Tl § b) S ®
Decreasing Increasing
c) 3T (a) 3k (b) d) arferamas
Both (a) & (b) Maximum
4. T 9 U F T AT 3?7

Whether the following fact is true or false?
9 B SR AT b FHM U H B Bl 8, A AT BT A gblg d dvIaR Bl 87
When price and demand fall in equal proportion, then elasticity of demand is
equal to utility?
a) SHS A HH

Less than Utility
b) sHE A AWH



i)

iv)

More than Utility
C) IHIE b IR
Equal to Utility
d) 379 & PIS Tl
None of these
HMIT W ST AT ST 2
Marginal cost is calculated by :

a) MC=TC b) MC=TCn-TCn-1
Q

c) MC= ACXQ d) MC=TPn-TPn-1

gfcl @1 e fdae UbR HI Bl 87

How many types of Elasticity of supply ?

a)3 b)4

c) S5 d)2

HHd fave fog aoR & asg 87
Price Discrimination is possible in which market?

(a) got gfcarfiar (b) USSR

Perfect competition Monopoly

C) UHIEBRI gferafirar SORIGT T
Monopolistic competition d) All of the above

ISR HIFd BT FHeriRor gidr 2 -

Market Price is determined in :

a) 31fal 3readhTe b) 3cUdbTA
Very short period Short period
c)ard HIel d) 378 & PIg Tl
Long period None of these.
8X1=8
9 & ufome | R fm 27

What is meant by Returns to scale?

Hol STNATAT R A SUMAAT # F7 Hefer 27

What is the relationship between Total Utility and Marginal Utility?

2X2=4

HIE A T2 BRI |

Do any three questions.

ITE ARG asp bl fARIaaral &l auie ol |

Discuss the characteristics of Production Possibility Curve?
S99 B DT BI 10 H $BH BIAR ®UI 5 B WK © Al IHD! HT 20 SHRAl
F dGPY 50 SHILAT 81 o1l & | 91T B A e Y |

When price of a commodity falls from Rs.10 to Rs.5, then demand of the
commodity rises from 20 units to 50 units. Find out elasticity of demand.

AT H gfg BT R g1 auie & |

Explain increase in demand with the help of diagram.

71 AR BT R BN

Complete the following table.

IR BT §HIRAT | Rl 3H AT 3T SEISEEING]
Units of | Total Revenue | Average Revenue | Marginal Revenue
Production

1 10
2 20
3 15

3X3=9



11. goi UfIRdr a1 TahTieeR &1 aR faeredmali &1 quie ax?
Explain four features of perfect competition or Monopoly?
(4)
12. fF=faRad geai § 9 fa=sl 9 Ul &1 SR < |
i) fBefl a=g @1 ART BT ywIfdd H_ arel deal BT goid 2

Discuss the factors which affecting the demand of a commodity?
i) =T # gRadT 8 WR Hdeld HHd W T UG IS, 9 g Rer 87

(5)
What will be the impact of change in demand on equilibrium price, when
supply remains constant?

iii) Ted 9ed U & M B i ARAT BR?

(5)
Explain the law of variable proportion diagrammatically?
iv)a)deE & ufawd iR UM @ ufawe # ar ofdR &7

(9)
What is the difference between Returns to a factor and Returns to scale?
b) STEH AT DI & T AT 8?

(2.5)
What are the main conditions of producer's equilibrium?

gue—y

Section-B
I : U AT 13 W 20 T6 Y Y qgfadhed UeHl § ¥ Ud Al f[Adhed &1 gA1d o |

13. 9 d9Ry BT Gy 2 |

Multiple Choice Questions from Sr. No. 13 to 20, select the correct option from
the given alternatives.

Macro Economics deals with.
a) AUl arefeyaRell # SuTfad avgell d Haell & wWR A
Level of goods and services produced in an Economy.
b) AT HFT WR ¥

General Price level.

) g I
National Income
d) SWRIad a4
All of above
14. TE¥eT & aegail SR Hamfl BT ... BT B |
Household Sector Goods & Service.
(a) SwHrT (b)Scares
Consumption Production
(c) < (a) & (b) (d)sT¥ & PIg eI

Both (a) & (b) None of these
15. I9R DHFd R Yg TS IS =

Net National Product at Market Price =

a) IR HHd W Hhel T IATG—TEATde

Gross National Product at Market Price-Depreciation.

b) TSR BT IR Hhol T IATG—YE JUTE B

Gross National Product at Market Price-Net Indirect Tax
c) aFra 3R b

Botha &b
d) ¥ @ 318 &l



None of these.

16. WHid 99d U9 & FF R® 27?

What is the formula of Marginal Propensity to save?

a) AY b)As
AS AY
) SIY d) YIS

17 Qi ISR Sger a8 Reifd 8, form—
Full Employment Equivilibrium is a situation in which:-
a) AD>AS b) AD<AS
c) AD=AS d) 74 9 @15 e (None of the these)

18. 9RA ¥ 200 ¥II T AIC SIRI H BT MSR fbd T 2 |
Who have the right to issue Rupee 200 Note in India.

a) ABR b) YR T d&
Government State Bank of India
c) R R d& d) ST | P &I
Reserve Bank of India None of these

19. T4 ¥ ®IF A1 UTe HR el ¢ |
Which of the following is not Direct Tax?

a) AHRT &R b) 3T B

Wealth Tax Income Tax

C)SUER X d) faT &=
Gift Tax Sale Tax

20. @UR Y ST B DI G =
Formula for calculating Balance of Trade =
a) 3mard—fatq b) frata—smara
Import-Export Export-Import
c)maTa++rara d) SWRIad a1
Import+Export All of the above.

1X8=8

21. i) M & IRAfAH Yarg | a7 AU 272
What is meant by real flow of Income?
ii) af¢ MPC=0.8 & d MPS &1 %3 Sd &I |
If MPC=0.8 then calculate the value of MPS. 2+2=4

22. i) UeT 3R UL B} H (AR DI AT PN |
Explain the difference between direct Tax and Indirect Tax.
ii) Ufare I AT BT S BA B A SURIT BT g HR?
Explain the three measures to correct Unfavourable Balance of
Payment?
iii) /1 AT & AR TR FEE A R YE O], S Hd P
REp

BISIN ST TR Al BENYNSIRIE 800
BRICTA 90
AU hX 120

e wERId 30



On the basis of given information find out the Net Domestic Product at
Factor Cost:-

Rs.
Gross Domestic Product at Market Price 800
Depreciation 90
Indirect Tax 120
Subsidy 30

3X3=9

23. 3D HRT Bl STb B & ol Aifgd IURT ST ARAT B |

Explain three monetary measure to correct excess demand.

or
qof ISR Wigert i oot RIeTR wger & aun of 37 @)
What is the difference between the Full Employment and Under
Employment Equilibrium?
24. 1) I AT A BT M A BT R H?
Explain the Income Method for measuring National Income? (5)
i) S o b G BT BT AV BR?
Discuss the main functions of Central Bank?
(5)
25. doc @1 2? qulc & Ieed 9T 87
What is Budget? What are the objectives of Budget? (5)
or
a)Aegad 3iR 3ifcH avgell # @ ofar 27
What is the difference between Intermediate and Final Goods.
b)gaT & 3T G BT BT qU PR?

Discuss two main functions of Money? 2.5+2.5=5





